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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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Answer any five of the following questions: 2x10=20

frsfefe @ @ mif 2o Tea w6 2

(a) Define national income.
GO SIGE A WS |

(b) What is disposable income?
AR S P2

(c) Define aggregate demand.
Atafare sifgwa Ace e |

(d) What is the equilibrium condition in simple Keynesian model?
A (@AY WG SEHTA € 2

(e) State the savings function.
A7 SAHR (A |

(f) Show that MPC + MPS = 1
@4te @ MPC + MPS = 1

(g) What is depreciation?
5T Fi

(h) Write down the Cambridge equation of quantity theory of money.
wefa A orga @fge AN@ad @

(i) What is meant by velocity of circulation of money?
wrefa 267 (A5t qECS B A2

(j) Distinguish between primary deposit and derived deposit.
#eifire e W3t TGS WS Wy AL FE|

(k) What is meant by induced investment?

srzfee Rfacs s@re § @RiEe?
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(I) What is precautionary demand for money?
ARSI Srrey wefe BifEwt FEre @I
(m) What is bank rate?
T @5 ;2
(n) Define IS curve.
‘IS-FA’-7 AR 7 |
(o) Define full employment.

s§¢f Fmse wcet wie |

2. Answer any four of the following questions: 5x4=20

fafafee aaf@ @ @ @ 517f ame Ser we 2

(a) Briefly explain the components of aggregate demand in context of closed and open economy.
T ¢ Y& gdAifers Amfae vifena Somme Aewee - @

(b) Briefly discuss the problems of national income accounting.
FARCFCA SIS R ARAAT TP A e |

(c) Derive the IS-curve from goods market equilibrium condition.
TR AGNAT SHATR =S (AeF [S-@ [tz

(d) Describe the components of money supply.
A @M SoAmmef Rfge wr

(e) Explain the concept of inflationary gap.
urfen i g e wE

(f) Briefly discuss the functions of commercial bank.
aiffere iccea wdafa seeweet EL @@ |

3. Answer any two questions: 10x2=20
Q7 P i Are Tew e ¢
(a) Discuss circular flow of national income in an open economy and explain the equilibrium
condition.
YT SRS WO SR SERE e[IE S FE! @92 SR B I T |
(b) Analyse Keynes’ multiplier theory.
@ o ogh R

(c) Explain Fisher’s quantity theory of money.

fitcza wdfa sifene wefd @ =@

(d) Discuss how the commercial banks create credit in the economy.

qifEre ik Frenz wdifers a 4B w0 ©f wwEAwT T@")



